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3.1 =% AA == 1Eh

O O|=2| 3&
O quarter = 25-cent
2 dimes = 10-cent
O nickels = 5-cent
O pennies = 1-cent

O et=0f| A= Z0| CHlO| = A|lLket7 | =&,

O 9 quarters, 2 dimes, no nickels, and 6 pennies
(9%25)+(2x10)+(0x5)+(6x1) = 251 cents = $2.51

O 0=, OlA= Zlthore =23 = Adsl EAL
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=M™ A Z2328: Coins.java

/** Coins - 9 quarters, 2 dimes, no nickels, and 6
pennies & 7K1 RS W E MESF 7iX|12 U=X| A&l F= Z23H

*/

public class Coins
{ public static void main(String[] args)
{ System.out.println("For 9 quarters, 2 dimes,
no nickels, and 6 pennies,");
System.out.print("the total is ");
System.out.println( (9 * 25) + (2 * 10)
+ (0 *5) + (6 *1) );
} *0| F5t7|

}

For 9 quarters, 2 dimes, no nickels, and 6 pennies,
the total is 251
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/** Coins - 9 quarters, 2 dimes, no nickels, and 6
pennies = 7K1 US M FE MEZF 7IX|1 U=X| AL F= T2
* /

public class Coins
{ public static void main(String[] args)
{ System.out.println("For 9 quarters, 2 dimes,
no nickels, and |6| pennies,");
System.out.print("the total is ");
System.out.println( (9 * 25) + (2 * 10)
+ (0 * 5) + {E

1
} C 319 A
™ A= T

*

}

For 9 quarters, 2 dimes, no nickels, and 6 pennies,
the total is 251




O GEAL AL, _, $& 2E5HM A8 71, H, A= AR SA

O 0, quarters, QUArTers, 0123, my quarter
O Java 7|9 E= A 2X[: public, class S

O B M1 7|}
0 1nt quarters = 5;
O B AR

O System.out.println(quarters * 25);
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/** CoinsVariables - Ul 7HQ| ¥1£+Z quarter, dimes, nickels, pennies=
F W T UK HelsiA A8 */

public class CoinsVariables
{ public static void main(String[] args)

{ int quarters = 9;
int dimes = 2;
int nickels = 0;
int pennies = 6;
System.out.println("For these quantities of coins:");
System.out.print("Quarters = "); System.out.println(quarters);
System.out.print("Dimes = "); System.out.println(dimes);
System.out.print("Nickels = "); System.out.println(nickels);
System.out.print("Pennies = "); System.out.println(pennies);

System.out.print("The total is ");
System.out.println((quarters*25)+(dimes*10)
+(nickels*5)+(pennies*1l) );
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For these quantities of coins:
Quarters = 9
Dimes = 2
Nickels = 0
Pennies = 6

The total is 251
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=18t I OIC} System.out .print BE= print1ln= S&6l0f StL|77t

O System.out.print(x); System.out.print(y); =
System.out.print(x+y); Z A £7| 7IssiCL

O System.out.print(x); System.out.println(y); =
System.out.println(x+y); & %A 27| 7Is5ICt.
O & 7l O|ME 7+=5iL.

O B +2 VL& = ULE=E 72loit.
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/** CoinsVariables - 4| 78] H+ZE quarter, dimes, nickels, penniesS
F W T UK HelsiA A8 */

public class CoinsVariables
{ public static void main(String[] args)
{ int quarters = 9;
int dimes = 2;

int nickels 0;

int pennies = 6;

System.out.println("For these quantities of coins:");
System.out.println("Quarters = " + quarters);
System.out.println("Dimes = " + dimes);
System.out.println("Nickels = " + nickels);
System.out.println("Pennies = " + pennies);

System.out.println("The total is " +
((quarters*25)+(dimes*10)
+(nickels*5)+(pennies*1)));
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O 251 MEZ}OIL[2l $2.512 E7 |5l F!

O 2lE
2 251/100=2

2 2519100 =51
o 3= E0|AM mod, &, LIHX|E = QAXIO|CY.
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/** TotalVariablesDollar - quarters, dimes, nickels, pennies 7l
7t FOX|E Z0elx] 232 Atsls Z238" +/

public class TotalVariablesDollar
{ public static void main(String[] args)

System.out.print("The total is ");

int total (quarters * 25) + (dimes * 10)
+ (nickels * 5) + (pennies * 1);

System.out.print("The total is §$");

System.out.print(total / 100);

System.out.print(".");

System.out.println(total % 100);
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O BLTE MAE [ X7 |5H=ICH= 742, |2 2|of] “AH A A Al
(cell)’0| A47|1 =7|3} Z+o| 1 dlof| MZEH=ICH= Zdo|Ct,

- )
main
{ int quarters =|9
int dimes =2
int nickels =|0
int pennies =6
3 4




~ R
int money = 100;
System.out.println(money);

money = 0;

\?ystem.out.println(money); )
~ R
int money = 100;
System.out.println(money);

money = money + 50;
\?ystem.out.println(money); )
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O quarters =13
D dimes =2

2 nickels=0

O pennies =1

O A A ISEX[?
O 3.46 - (13x0.25) = 0.21
5 0.21 - (2x0.10) = 0.01
5 0.01 - (0x0.05) = 0.01
5 0.01 —(1x0.01) =0.00
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Lt= {4 & e|S

O A&t SUZ moneyzty! ST,

O money=LCt 2| k|= Z[CH quarter =5
=H= moneyOi|A] i quarter == S=olCt,

O money= Lt 27| E[= Z|CH dime =5 A
H= moneyOi|A] 11 dime =5 S={eiCH.

O moneyHCt 2| &= Z|CH nickel =& AlAetCt, sHE 2
M= moneydi|A] it nickel =2 S=SIC}

O =2 money?t penny2| =~0|Lt.

17 stekrlatn ERICA HREI28 )
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/** MakeChange- dollars® cents?t FHX|H 0|0f| sliEtst= s £ AHlLtsh

Cl, %/

public class MakeChange
{ public static void main(String[] args)
{ int dollars = 3;
int cents = 46;

int money = (dollars * 100) + cents;
System.out.println("quarters = " + (money / 25));
money = money % 25;

System.out.println("dimes = " + (money / 10));

money = money % 10;
System.out.println("nickels
money = money % 5;
System.out.println("pennies

+ (money / 5));

+ money) ;
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System.out.println("dimes =
money

.}

= money

S

(o]

10;

— O -
/ .
main
{ int dollars = 3
int cents = 46
int money = 346
System.out.println("quarters = " + (money / 25));
money = money % 25;
System.out.println("dimes = " + (money / 10));
money = money % 10;
.}
main
{ int dollars = 3
int cents = 46
int money = 29
System.out.println("quarters = " + (money / 25));
money = money % 25;

" + (money / 10));
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money = money % 25 9—' %%ﬁ

O money 2| di= FH=LC},
O money % 25 £ H|AtsC}
O money H2| t= Si=L.

O 25% L= LIHX|S FHeltt,

O A&t Z1E money W2 Alof| AT
O 7|Z0| UH ZF2 ARRFEICE
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O 1int dollars;
O dollarsE [ Aot AMSIC]
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15
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11

O K& (=7=h
0 dollars = 3;
O 32 dollars 40| HZSHCL.
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3.3 2| A4 Doubles

O 2k Het T=T8= OhSK}

1j0

O AAt SA:f=(9/5)c + 32
O ce M 2
O f =M 2
O c=220[Hf=71.6

O FE|FE Javaz?
O REleE JavallM 7|22 = X|RISHK| %4=LF.,
O CHA A double2 AHEE £ QUL
O AMfE 4S80l A20( 1.2, -2.1,0.33 S2 = HI|SIC}

O HFMRE 4, -, %, [ & Bl 0| ArEeltt.
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/** CelsiusToFahrenheit0 - dME SME HEt */

public class CelsiusToFahrenheit0
{ public static void main(String[] args)

{ int ¢ = 22; // the degrees Celsisus
double f = ((9.0/5.0) * ¢c) + 32;

System.out.println("For Celsius degrees "+ c + ",");
System.out.println("Degrees Fahrenheit = " + f);

For Celsius degrees 22,
Degrees Fahrenheit = 71.6
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M4l H42| EfY et (Type Cast)

O O|A| =712
O int 1 = 1;
O double d = i; SAIA EFR B8 (implicit type casting)

O O|A| E77t?
2 double d = 1.5;
O int 1 = d;

O /0] 742 £ 02} ZdL ot=IC}. O|=A| M Z=0{OF ST}
D double d = 1.5;
O int i = (int)d; BAA EIY Het (explicit type casting)
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3.4 =2|4} (Boolean Value)

O zh(true)/{Hl(false)2 LIEHH= 24
D boolean b = false;

O H|W AALK|: F4, 24 25 H|w 7SS
D> < <= >= == |=

O FO|, eV |20|M H| = = O[X|2 JavalllM= MEE1 253 lst|

o ==

O =5, z, 2= FAGH7|SE HY




3.5 ALK} LM +=2| (Operator Precedence)

O 1*2+3
1*2

O

p

+3 77t OFL|™H 1%(2+3) Y77}?

O 2= 97| flsh R8&2E FOI5UL.
CHg} O1AR} - | =0
Z517| * Lie7| / LHX] ¢
H5t7| + Hij7] -
d|lul < <= > >=
(0l == 1=
=2 & || <Lt




Xl (Associativity)

O 1-2-3

D (1-2)-3 &7, OfL|™ 1-(2-3) &77t?

Sf ALY,

=AM S 507

FA
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3.6 2XIY (String)

O BRSO LI

O EXIEE 4, M, =2lgtaks Zal ol

1y = 1|

) String name = “Gildong Hong";

O =XtE 20|7] (concatenation)

O System.out.println("My name 1is

+ name) ;

D System.out.println("My name 1s R2D" + (5-3));
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O Sl.equals(S2), Sl.compareTo(S2)
O S.length()

O S.charAt(E), Sl.indexOf(S2,1i)

O S.substring(E1l,E2)

O S.toUpperCase(), S.toLowerCase()
O S.trim
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=X} (Characters)

ot HSAIZICE.

O JavaQl 42 |L|ZE(Unicode) 2] I
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O 2t =2| ZFE EIY (data type) O[22 SHCT

O Javas F 7HK| CrE ZHE|12|2| Efi0] QULH.
O 7|& EIY (primitive type): int, double, boolean, char

O FE EfY (reference type) EE= ZHA| EfY (object type): String,
GregorianCalendar

O Javas= Y4stH EfRIS 2t} 2f?
O O|ASHAM 7L 1 * 2.3 (0), “abe” * 2.3 (X)
AL AT 0= 7Fs: 1 * 2.3 = 2X| Z22}= double Z10|X|
ol

SICHO|2 20| double 2410 MZESt 2 9171 double Z2t 7HX|X|

/
S ¢7 2%: T2O0| R BAEIH EIRIRE 52 TksA £
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boolean b = true;

System.out.println(b * 5); // data type error
int 1 = 3 * 2.1; // data type error
int x;

x = "abc"; // data type error

GregorianCalendar ¢ = new GregorianCalendar();
System.out.println(c.getTime());

c.println("oops"); // data type error

Bt @77t e 212 R E2| B2 HuZe{/t £/0} Lt



((-3 % i)+ d4d) >2

it nt nt
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int

daub\le ?fuble

double

double double
~ e

boolean
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O OEH[?
O HHO| =0||A: java CelsiusToFahrenheit 20

O Eclipse®M: Run configuration > Arguments >
Program arguments

O Z2 10| AXE|H args[0],args[1], ..., args[n]
Off 1==7t MZE|0] AL
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/** LengthOfName - ®=2| ZO|Z =H

Ct, %/

o

public class LengthOfName
{ public static void main(String[] args)

{ String name = args[0]; // args[0]0l Ql=7} N0l ULCt.
int length = name.length();
System.out.println(“The name, “ + name +

“, has length “ + length);

> java LengthOfName “HONG Gildong”
The name, HONG Gildong, has length 12

> java LengthOfName HONG Gildong
The name, HONG, has length 4 args[l] = “Gildong”
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O Ole== EXIHO|LCY.
O 202 974E H4=200]| OfL| 2 2XtH #20~0|C}.

O _|_X|.0=| 1120112 I{J\E Hl__'llj_t |:C|>|.|:I|=.I|
O M4 HH|E OtEMHM 012 #2072 &=L

O = AR|0M S EOHHL,

O 1int ¢ = new Integer(“20”).intValue();

O AIAE I:c|>|- io=2
O double ¢ = new Double(”3.14159").doublevValue();

O java.lang IN7|X[0] Integer® Double SEHAT} QUL
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At O8] 27|

O 2= Altlotdl LA =Eet a7t L= AO0|Ct.

4 N

System.out.println(100.0/3.0);

OI

>
33.33333333333336
N

O O|8EA| ®i=, &, 33.330[2f11 H= 0| SiS7t?

D java.text.DecimalFormat= AMZdl!



CsEie=Ead@yAMEE 000000000000
DecimalFormat

O DecimalFormat ZHX|| =7
O new DecimalFormat (<IiE>)
O <IfEIS2 OfH PO = of X| M| =2 =1

O O, “0.00" = Z=|A 2120 otXI2|, @REZ2 T=X|2

O O|X| O] ZHX|0| format HIAEE S8l /=2 HEUMH EXES &

O DecimalFormat f = new DecimalFormat(“0.00");
0 String s = f.format(100.0/3.0);



L Hi{g} T =2 T12H QM

- L

-
import java.text.*

o ==l =0k */

public class CelsiusToFahrenheitl {
public static void main(String[] args)

{
int ¢ = new Integer(args[0]).intValue();
// args[0]7f =212 Ol
double £ = ((9.0/5.0)*c) + 32;

System.out.println("For Celsius degrees " + c + ",");
DecimalFormat formatter = new DecimalFormat(“0.0");

System.out.println("Degrees Fahrenheit = +
formatter.format(f));

/** CelsiusToFahrenheitl = ZE=8 Qlxz MUREE 20} SMNS2ETE HpH
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O =¥ 2R
O HA0| ol et =2
e 0], system.out.println ( (1+2(*3 );
O Zure|v} ot =0

O EtY 2F
O B0 K| e =20
e 0 Ssystem.out.println(3 + true);
O U7} & =L,
O = MOI0| BHX| 9= FRE ErR AA S01| &0 &=L
e 0, system.out.println(a); // a X2 Qi0| Al
e 0 int a=1; double a=2.5; // H 5 MO

System.out.println(a);



AMA|ZF L= (Run-Time Error)

O Y5 QB = Ml 2X| fni= 57| 0129 AMlA[ZHOf| LAY,
O 0], 02 LIF7|

i/x // x=0
O 0, Het o=

new Integer(x).intValue() // x="abc”

O Javae AliAIZt =71 2dstH 0f|2|(exception)S 'LEAI7 |HA LA &
EE OI-E;'Xl:l_

java.lang.NumberFormatException: abc
at java.lang.Integer.parselnt(Integer.java)
at java.lang.Integer.<init>(Integer.java)
at Test.main(Test.java:4)



Al
—

O =25 QEE MG TMEIE SHH Al

HAIZH|E OfF 5| ESIX| o

SH7t oI Tt Ade|s A9

int x=3;

int y=7;

System.out.println(x=y);
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